|      | PART- I: ABSTRACT STATEMENT O   | F ELECTION EXPENSES   |
|------|---|-----------------------|
|      | Name of the Candidate   | Sh./Smt./Km.          |
| II   | Number and name of Constituency   | VN THUSHAR            |
| 111  | Name of State/Union Territory   | Kerala                |
| IV   | Nature of Election (Please mention whether General Election to State Assembly/Lok Sabha/Bye-Election) | Lok Sabha             |
| V    | Date of declaration of result   | 04-06-2024            |
| VI   | Name and Address of the Election Agent  | ADV Sinil Mundappally |
| VII  | If candidate is set up by a political party, please mention the name of the political party           | BDJS                  |
| VIII | Whether the party is a recognised political party   | No                    |

Date: 28-06-2024 Place: Kottay am

Signature of the Candidate Name:

| LADI         | II: ABSTRACT OF STATEMENT OF E           | LECTION EXPE                            | NDITURE OF CAN    | NDIDATE           |                |
|--------------|--|---|-------------------|-------------------|----------------|
| AKI          | III ABSTRACT OF STATEMENT OF E           | Amt.                                    |                   |                   |                |
|              | 1  | Incurred/Auth.                          | Amt.              | Amt.              |                |
| 1            |  | Ву                                      | Incurred/authoriz | Incurred/authori  | Total Election |
|              |  | Cadidate/Electi                         | ed by Pol. Party  | zed by others (in | expenditure    |
| 3.N          |  |   | ,                 | Rs.)              | (3)+(4)+(5)    |
|              | Ci (10 di ci)                            | on agent(in Rs.)                        |                   | 5                 | 6              |
| 1 2          |  | 3                                       | 4                 |                   |                |
|              | Expenses in public meeting, rally        | '                                       |                   |                   |                |
|              | procession etc.:-                        |   |                   |                   |                |
|              | . (a). Expenses in public meeting,rally, | 4,92,009.00                             |                   |                   | 4,92,009.00    |
| l r          | procession etc. (ie: other than the ones | .,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, |                   | Ì                 |                |
| \            | with Star Campaigners of the Political   |   |                   | <b></b>           |                |
|              | Party (Enclose as per Schedule I)        |   | NIL               | NIL               | ļ              |
|              | I.(b): Expenditure in public meeting,    |   |                   | 1                 |                |
|              | rally, procession etc. with Star         |   |                   |                   |                |
| 10           | Campaigners (ie other than those for     | 1,00,000.00                             | 1                 |                   | 1,00,000.00    |
|              | general party propagnada) (enclose as    |   |                   |                   |                |
|              | per Schedule II)                         |   | NIL               | NIL               |                |
|              | Campaign materials other than those      |   |                   |                   |                |
| [            | used in the public meeting, rally,       |   |                   |                   | 14,24,737.10   |
|              | procession etc. Mentioned in S.No. I     | 14,24,737.10                            | }                 |                   | 14,24,737.10   |
| [            | above (Enclose as per schedule III)      |   | NIL               | NIL               |                |
| 11           | (a) Campaign, through print and          |   |                   |                   |                |
|              | (a) Campaign, unough print and           |   |                   |                   |                |
|              | electronic media including cable         |   |                   |                   |                |
|              | network, bulk SMS or internet and        | ì                                       | 1                 |                   |                |
| 1            | social media in privately owned          |   |                   |                   |                |
|              | newspapers/TV/Radio channels             |   | NIL               | NIL               |                |
| III          | etc.(Enclose as per schedule IV)         |   | INIL              | IVIL              |                |
|              | (b) Campaign, through print and          |   |                   |                   |                |
|              | electronic media including cable         |   |                   |                   |                |
|              | network, bulk SMS or internet and        |   |                   |                   |                |
|              | social media in newspapers/TV/Radio      | 1,39,200.00                             |                   |                   | 1,39,200.00    |
|              | channels etc.owned by the candidate      | 1,57,200.00                             |                   |                   |                |
| . 1          | or by the political party sponsoring the |   |                   |                   |                |
|              | candidate (Enclose as per schedule IV    |   |                   |                   |                |
|              | A)                                       |   | NIL               | NIL               |                |
|              | Expenditure on campaign vehicle(s),      |   |                   |                   |                |
|              | used by candidate (enclose as per        | 16,74,000.00                            |                   |                   | 16,74,000.00   |
| IV           | schedule V)                              |   | NIL               | NIL               |                |
| -            | Expenses of campaign workers/agents      | 15 42 402 00                            |                   |                   | 15,43,403.90   |
| V            | (enclose as per schedule VI)             | 15,43,403.90                            | NIL               | NIL               | 15,45,405.70   |
| · -          | Anyother campaign expenditure            | 07.460.00                               |                   |                   | 26,469.00      |
| VI           | Transcript Campaign experience           | 26,469.00                               | NIL               | NIL               | 20,407.00      |
| <del>'</del> | Expenses incurred on publishing of       |   |                   |                   |                |
|              | declaration regarding criminal cases     | 95,523.00                               |                   |                   | 95,523.00      |
| VII          | (Enclose as per schedule -10)            |   | NIL               | NIL               |                |
| VII          | VIII expenses incurred on virtual        |   |                   |                   |                |
|              | campaign (Enclose as per schdule         |   | NIL               | NIL               |                |
| VIII         |  |   | <del></del>       |                   | 1              |
| VIII         | campaign (Enclose as per schudie         | 54,95,342.00                            | . 1               |                   | 54,95,342.00   |

Signature of the candidate

| S.No.  | Particulars   | Amount (In Rs.) |
|--------|---|-----------------|
| 3.140. | Faiticulais   | Amount (m 13.)  |
| 1      | 2   | 3               |
| 1      | Amout of own fund used for the election campaign (Enclose as per schedule 7)  | 25,000.0        |
| 2      | Lumpsum amount received from the party (ies) in cash or cheque etc. (Ecnlose as per schedule 8)   | 50,00,000.0     |
| 3      | Lumpsum amount received from any person/company/firm/associations/body of persons etc. As loan,gift or donation etc.(Enclose as per schedule 9) | 5,00,000.0      |
|        | Total   | 55,25,000.0     |

Signature of the candidate

#### PART-IV

### AFFIDAVIT

| Before the District Election Officer   |
|--|
| Affidavit of Shri/Smt/Ms. 1HUSHAR VELLAPPAL2Y (S/o, W/o, D/o). Jellappally Naturan son/wife/daughter of aged declare as under: -   |
| (1) That I was a contesting candidate at the general election/byeelection to the House of the People/  |
| Legislative Assembly of KOTTAYAM 14HPC   |
| from 2024 Parliamentary/Assembly   |
| from 2024 Parliamentary/Assembly constituency, the result of which was declared on 4th Assembly 2000 (4)   |
| (1) That I/my election agent kept a separate and correct account of all expenditure incurred/authorized by   |
| me / my election agent in connection with the above election between   |
| (the date on which I was nominated) and the date of declaration of the result thereof, both days inclusive.  |
| (3) That the said account was maintained in the Register furnished by the Returning Officer for the<br>purpose and the said Register itself is annexed hereto with the supporting vouchers/bills mentioned in<br>the said account.   |
| (4) That the account of my election expenditure as annexed hereto includes all items of election expenditure incurred or authorized by me or by my election agent, the political party which sponsored me, other associations / body of persons and other individuals supporting me, in connection with the election, and nothing has been concealed or withheld/suppressed therefrom (other than the expense on travel of leaders' covered by Explanations 1 and 2 under section 77 (1) of the Representation of the People Act, 1951). |
| (5) That the Abstract Statement of Election Expenses annexed as Annexure II to the said account also includes all expenditure incurred or authorized by me, my election agent, the political party which sponsored me, other associations /body of persons and other individuals supporting me, in connection with the election.   |
| (6) That the statements in the foregoing paragraphs (1) to (5) are true to the best of my knowledge and belief, that nothing is false and nothing material has been concealed.   |
| Deponent   |
| Solemnly affirmed/sworn by at Menny this day of 2024 Jane 28. before me.   |
| (Signature and seal of the Attesting authority, i.e. Magistrate of the first Class or Oath Commission or Notary Public)  |
| RANJIT. S.  Abvenue District Alappuzha  O topiry Date: 26-10-2025  ALAPPUZHA, KERALA, INDIA-688 001  Mob: 9847148471  Solemnly affirmed and signed before to by the deponent on this the   |

# Schedule-1

Expenses in public meeting, rally, procession etc. (ie.other than those with Star Campaigners of the Political Party)

| S.<br>No. | Nature of Expenditure   | Total Amount<br>In Rs. | Se   | ource of Expendit                          | ıre                     |
|-----------|---|------------------------|--|--|-------------------------|
|           |   |                        | Amt.incurred/<br>Auth.by<br>Candidate/<br>agent. | Amt.incurred/by<br>Pol.Party with<br>name. | Amt.incurred by others. |
| 1         | 2   | 3                      | 4  | 5  | 6                       |
| 1         | Vehicles for transporting visitors.   | NIL                    | NIL  | NIL  | NIL                     |
| 2         | Erecting Stage, Pandal & Furniture, Fixtures, poles etc.  | NIL                    | NIL  | NIL  | NIL                     |
| 3         | Arches & Barricades etc.  | NIL                    | NIL  | NIL  | NIL                     |
| 4         | Flowers/garlands  | NIL                    | NIL  | NIL  | NIL                     |
| 5         | Hiring Loud speakers, Microphone, amplifires, compares etc.   | NIL                    | NIL  | NIL  | NIL                     |
| 6         | Posters, hand bills, pamhlets, Banners, Cut-outs, hoardings.  | 725.00                 |  | 725.00                                     | NIL                     |
| 7         | Beverages like tea, Water, cold drink, juice etc.   | NIL                    | NIL  | NIL  | NIL                     |
| 8         | Digital TV-boards display, Projector display, tickers boards, 3D display.   | NIL                    | NIL  | NIL  | NIL                     |
| 9         | Expenses on celebrites, payment to musicians, other artists remuneration etc.   | NIL                    | NIL  | NIL  | NIL                     |
| 10        | Illumination itmes like serial lights, boards etc.  | 1,00,000.00            |  | 100000                                     | NIL                     |
| 11        | Expenses on transport, helicopter/aircraft/vehicles/boats etc. Charges (for self, celebrity or anyother campaigner otherthan Star Campaign) | NIL                    | NIL  | NIL  | NIL                     |
| 12        | Power consumption/generator charges.  | NIL                    | NIL  | NIL  | NIL                     |
| 13        | Rent for venue.   | 16,000.00              |  | 16000                                      | NIL                     |
| 14        | Guards & security charges.  | NIL                    | NIL  | NIL  | NIL                     |
| 15        | Boardingn & lodging expenses of self, celebrit,<br>party funtionary or any other campaigner<br>including Star Campaigner.                   | NIL                    | NIL  | NIL  | NIL                     |
| 16        | Others expenses.  | 1,40,444.00            | NIL  | 140444                                     | NIL                     |
| 17        | Bike  | 66,400.00              | NIL  | 66400                                      | NIL                     |
| 18        | Mic Speakers, Table ,chair, baloon  | 2,640.00               | NIL  | 2640                                       | NIL                     |
| 19        | Flags and Banners   | 10,800.00              | NIL  | 10800                                      | NIL                     |
| 20        | DJ  | 1,00,000.00            | NIL  | 1,00,000.00                                |                         |
| 21        | Nazik doll, Chendamelam   | 55,000.00              |  | 55000                                      | NIL                     |
|           | Total.  | 4,92,009.00            | NIL  | 4,92,009.00                                | NIL                     |

# Schedule-2

# Expenditure in public meeting rally, procession etc. With the Star Campaiginer(s) as apportioned candidate (ie:other than those for general party propaganda)

| Date of Venue | Name of the Star Camaigner(s) & | Amount of Ex  | ependiture on p                    | bublic meeting  | Remarks.   |
|---------------|---------------------------------|---|------------------------------------|---|--|
| Date of Venue | Name of Party.                  | rally, pro  | cession etc.wit                    | h the Star  | Keniaiks.  |
|               |                                 |   |                                    |   |  |
|               |                                 | Sou   | rce of Expendi                     | ture.   |  |
| 2             | 3                               | Amount by   | Amount by                          | Amount by   | 5  |
|               |                                 | Candidate/Ag  | Political                          | 1   |  |
|               |                                 | ent.  | Party                              | Ouleis.   |  |
| 10.04.2024    | No.44- (DID)                    | NIII  | 100000                             |   | .,,,,  |
| 19-04-2024    | Nadda (BJP)                     | NIL   | 100000                             | NIL   | NIL  |
|               |                                 |   |                                    |   |  |
| IIL           | NIL                             | NIL   | NIL                                | NIL   | NIL  |
|               |                                 |   |                                    |   |  |
| ш             | NIII                            | NITT  | NIII                               | ,,,,,   |  |
| ur.           | NIL                             | INIL  | NIL                                | INIL  | NIL  |
|               |                                 |   |                                    |   |  |
| IIL           | NIL                             | NIL   | NIL                                | NIL   | NIL  |
|               |                                 |   |                                    |   |  |
| otal.         | NITT                            |   | 100000                             |   |  |
| otai          | NIL                             | MIL   | 100000                             | NIL   | NIL  |
| 1             | IL<br>IL                        | Date of Venue  Name of Party.  2  3  19-04-2024 Nadda (BJP)  IL  NIL  NIL  NIL  NIL | Name of Party.   rally, pro   Sour | Name of Party.   rally, procession etc.wit   4     Source of Expendit   Amount by   Candidate/Ag   Political   Party     19-04-2024   Nadda (BJP)   NIL   NIL | Name of Party.   rally, procession etc.with the Star |

#### Schedule-3

Details of expenditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, video and audio cassettes, Cds/DVDs, Loud Speaker, amplifers, digital TV/board display, 3D display etc; for candidate's election campaign (ie: other than those covered in Schedule – 1 & 2)

|           |                     |                     | Sor                                       |           |               |                     |  |
|-----------|---------------------|---------------------|---|-----------|---------------|---------------------|--|
| S.<br>No. | Nature of Expenses. | Total Amount in Rs. | Amt.By candidate/ agent  Amt.By Pol.Party |           | Amt.By Others | Remarks,<br>If any. |  |
| 1         | 2                   | 3                   | 4   | 5         | 6             | 7                   |  |
| 1         | Abhayarthana        | 1,50,000.00         | NIL                                       | 150000    | NIL           | NIL                 |  |
| 2         | Poster              | 2,53,000.00         | NIL                                       | 253000    | NIL           | NIL                 |  |
| 3         | Flex Board          | 4,85,433.00         | NIL                                       | 485433    | NIL           | NIL                 |  |
| 4         | Others              | 5,36,304.10         | NIL                                       | 536304.1  | NIL           | NIL                 |  |
| Total     |                     | 14,24,737.10        | NIL                                       | 1424737.1 | NIL           | NIL                 |  |



#### Schedule - 4

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc.,including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in privately owned newspapers/TV/radio channels etc.

|           | Nietowa   | Name and address of   | Name and address of  |                           | Sources of Expenditure        |                       |                   |  |
|-----------|---|---|--|---------------------------|-------------------------------|-----------------------|-------------------|--|
| S.<br>No. | Nature of medium (electronic/ print) and duration | media provider (print/ electronic/ SMS/ voice/ cable TV, social media etc.) | agency, reporter,<br>stringer, company or<br>any person to whom<br>charges/ commission<br>etc. paid/ payable, if<br>any. | Total<br>Amount in<br>Rs. | Amt.By<br>candidate/<br>agent | Amt. By Pol.<br>Party | Amt.By<br>Others. |  |
| 1         | 2   | . 3   | 4  | 5                         | 6                             | 7                     | 8                 |  |
| 1         | NIL   | NIL   | NIL  | NIL                       | NIL                           | NIL                   | NIL               |  |
| 2         | NIL   | NIL   | NIL  | NIL                       | NIL                           | NIL                   | NIL               |  |
| 3         | NIL   | NIL   | NIL  | NIL                       | NIL                           | NIL                   | NIL               |  |
| 4         | NIL   | NIL   | NIL  | NIL                       | NIL                           | NIL                   | NIL               |  |
| Tota      | Total   |   |  |                           | NIL                           | NIL                   | NIL               |  |

#### Schedule - 4A

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel et., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in newspapers/TV/radio channels, owned by candidate or by the political party sponsoring the candidate.

|           |   | Name and address of   | Name and address of  |                     | Sources of Expenditure        |                       |                   |  |
|-----------|---|---|--|---------------------|-------------------------------|-----------------------|-------------------|--|
| S.<br>No. | Nature of medium (electronic/ print) and duration | media provider (print/ electronic/ SMS/ voice/ cable TV, social media etc.) | agency, reporter,<br>stringer, company or<br>any person to whom<br>charges/ commission<br>etc. Paid/ payable, if<br>any. | Total Amount in Rs. | Amt.By<br>candidate/<br>agent | Amt. By Pol.<br>Party | Amt.By<br>Others. |  |
| 1         | 2   | 3   | 4  | 5                   | 6                             | 7                     | 8                 |  |
| 1         | Facebook  |   |  | 1,39,200.00         | NIL                           | 1,39,200.00           | NIL               |  |
| 2         | NIL   | NIL   | NIL  | NIL                 | NIL                           | NIL                   | NIL               |  |
| 3         | NIL   | NIL   | NIL  | NIL                 | NIL                           | NIL                   | NIL               |  |
| 4         | NIL   | NIL   | NIL  | NIL                 | NIL                           | NIL                   | NIL               |  |
| Total     | [   |   |  | 1,39,200.00         | NIL                           | 1,39,200.00           | NIL               |  |



#### Schedule .5

Details of expenditure on campaign vehicle (s) and poll expenditure on vehicle(s) for candidate's election campaign

|    | . ,                     |  |                                       |   |                        |                 |                                 |                       |                |
|----|-------------------------|--|---------------------------------------|---|------------------------|-----------------|---------------------------------|-----------------------|----------------|
| S. | Regn. no.<br>of Vehicle | Hiring charges of vechicle                       |                                       |   | No. of days for        | Total amt.      | Source of Expenditure           |                       |                |
| O. | & Type of<br>Vehicle    | Rate for<br>Hiring of<br>vehicle/mai<br>ntenance | Fuel<br>charges (If<br>not<br>covered | Driver's<br>charges (If<br>not covered<br>under | days for<br>which used | auth. in<br>Rs. | Amt. By<br>candidate<br>/ agent | Amt. By<br>Pol. Party | Amt. By others |
| 1  | 2                       | 3a   | 3b                                    | 3с  | 4                      | 5               | 6                               | 7                     | 8              |
| 1  | KI 36 A<br>6833         | 4500   | NIL                                   | NIL   | 20                     | 90000           | NIL                             | 90000                 | NIL            |
| 2  | KL 5 AG<br>1943         | 4500   | NIL                                   | NIL   | 9                      | 40500           | NIL                             | 40500                 | NIL            |
| 3  | KL 3 AF<br>2945         | 4500   | NIL                                   | NIL   | 9                      | 40500           | NIL                             | 40500                 | NIL            |
| 4  | KL 36 F<br>912          | 4500   | NIL                                   | NIL   | 10                     | 45000           | NIL                             | 45000                 | NIL            |
| 5  | KL 7 H 768              | 4500   | NIL                                   | NIL   | 10                     | 45000           | NIL                             | 45000                 | NIL            |
| 6  | KL 5 E<br>4550          | 4500   | NIL                                   | NIL   | 9                      | 40500           | NIL                             | 40500                 | NIL            |
| 7  | KL 21 D<br>7365         | 4500   | NIL                                   | NIL   | 7                      | 31500           | NIL                             | 31500                 | NIL            |
| 8  | KL 39 D<br>6204         | 4500   | NIL                                   | NIL   | 7                      | 31500           | NIL                             | 31500                 | NIL            |
| 9  | KL 27 D<br>2118         | 4500   | NIL                                   | NIL   | 9                      | 40500           | NIL                             | 40500                 | NIL            |
| 10 | KL BC 24                | 4500   | NIL                                   | NIL   | 9                      | 40500           | NIL                             | 40500                 | NIL            |
| 11 | KL 5 AJ<br>7644         | 4500   | NIL                                   | NIL   | 7                      | 31500           | NIL                             | 31500                 | NIL            |
| 12 | KL 28<br>4822           | 4500   | NIL                                   | NIL   | 20                     | 90000           | NIL                             | 90000                 | NIL            |
| 13 | KL 3 K<br>1982          | 4500   | NIL                                   | NIL   | 15                     | 67500           | NIL                             | 67500                 | NIL            |
| 14 | KL 3 S<br>1202          | 4500   | NIL                                   | NIL   | 17                     | 76500           | NIL                             | 76500                 | NIL            |
| 15 | KL 5 8545               | 4500   | NIL                                   | NIL   | 12                     | 54000           | NIL                             | 54000                 | NIL            |
| 16 | KL 3 L<br>1333          | 4500   | NIL                                   | NIL   | 14                     | 63000           | NIL                             | 63000                 | NIL            |
| 17 | KL 5 A<br>8556          | 4500   | NIL                                   | NIL   | 9                      | 40500           | NIL                             | 40500                 | NIL            |

| _  |                  |      |      |     |   |       |     |       |      |
|----|------------------|------|------|-----|---|-------|-----|-------|------|
| 18 | KL 4 M<br>6575   | 4500 | NIL  | NIL | 9 | 40500 | NIL | 40500 | NIL  |
| 19 | KL 3 K<br>5673   | 4500 | NIL  | NIL | 9 | 40500 | NIL | 40500 | NIL  |
| 20 | KL 5 AN<br>8279  | 4500 | NIL  | NIL | 4 | 18000 | NIL | 18000 | NIL  |
| 21 | KL 39 F<br>4856  | 4500 | NIL. | NIL | 5 | 22500 | NIL | 22500 | NIL  |
|    | KL 39 H<br>4712  | 4500 | NIL  | NIL | 5 | 22500 | NIL | 22500 | NIL  |
| 23 | KL 47 F<br>9085  | 4500 | NIL  | NIL | 3 | 13500 | NIL | 13500 | NIL  |
| 24 | KL 29 K<br>9305  | 4500 | NIL  | NIL | 4 | 18000 | NIL | 18000 | NIL  |
| 25 | KL 36 D<br>1995  | 4500 | NIL. | NIL | 3 | 13500 | NIL | 13500 | NIL. |
| 26 | KL 10 AC<br>7169 | 4500 | NIL  | NIL | 4 | 18000 | NIL | 18000 | NIL  |
|    | KL 39 F<br>400   | 4500 | NIL  | NIL | 4 | 18000 | NIL | 18000 | NIL  |
| 28 | KL 41 T<br>808   | 4500 | NIL  | NIL | 4 | 18000 | NIL | 18000 | NIL  |
|    | KL 39 T<br>4477  | 4500 | NIL  | NIL | 3 | 13500 | NIL | 13500 | NIL  |
| 30 | KL 36 L<br>862   | 4500 | NIL  | NIL | 5 | 22500 | NIL | 22500 | NIL  |
| 31 | KL 39 D<br>3257  | 4500 | NIL  | NIL | 4 | 18000 | NIL | 18000 | NIL  |
| 32 | KL 4 8 T<br>3805 | 4500 | NIL  | NIL | 5 | 22500 | NIL | 22500 | NIL  |
|    | KL 67<br>5495    | 4500 | NIL  | NIL | 4 | 18000 | NIL | 18000 | NIL  |
|    | KL 36 H<br>8869  | 4500 | NIL  | NIL | 5 | 22500 | NIL | 22500 | NIL  |

| 35    | KL 36 H<br>6889 | 4500 | NIL  | NIL | 3  | 13500   | NIL | 13500   | NIL  |
|-------|-----------------|------|------|-----|----|---------|-----|---------|------|
| 36    | KL 5 AU<br>5119 | 4500 | NIL  | NIL | 4  | 18000   | NIL | 18000   | NIL  |
| 37    | KL 38 H<br>1247 | 4500 | NIL  | NIL | 6  | 27000   | NIL | 27000   | NIL  |
| 38    | KL 7 CL<br>8873 | 4500 | NIL. | NIL | 5  | 22500   | NIL | 22500   | NIL  |
| 1 541 | KL 7 AD<br>4670 | 4500 | NIL  | NIL | 13 | 58500   | NIL | 58500   | NIL  |
|       | KL 38 K<br>6819 | 4500 | NIL  | NIL | 5  | 22500   | NIL | 22500   | NIL  |
|       | KL 39 L<br>8817 | 4500 | NIL  | NIL | 4  | 18000   | NIL | 18000   | NIL  |
| 42    | KL 6 J<br>0542  | 4500 | NIL  | NIL | 2  | 9000    | NIL | 9000    | NIL. |
| 43    | KL 03 156       | 4500 | NIL  | NIL | 4  | 18000   | NIL | 18000   | NIL  |
| 44    | KL P 3625       | 4500 | NIL  | NIL | 5  | 22500   | NIL | 22500   | NIL  |
|       | KL 5 AP<br>1361 | 2000 | NIL  | NIL | 12 | 24000   | NIL | 24000   | NIL. |
|       | KL 5 AS<br>6215 | 2000 | NIL  | NIL | 12 | 24000   | NIL | 24000   | NIL  |
| 47    | KL 5 AF<br>1573 | 2000 | NIL  | NIL | 12 | 24000   | NIL | 24000   | NIL  |
|       | KL 5 AG<br>7343 | 2000 | NIL  | NIL | 12 | 24000   | NIL | 24000   | NIL  |
| 49    | KL 5 AE<br>7229 | 2000 | NIL  | NIL | 12 | 24000   | NIL | 24000   | NIL  |
| 50    | KL 5 AG<br>528  | 2000 | NIL  | NIL | 12 | 24000   | NIL | 24000   | NIL  |
|       | KL 5 AE<br>3529 | 2000 | NIL  | NIL | 12 | 24000   | NIL | 24000   | NIL  |
|       | KL 5 AD<br>9491 | 2000 | NIL  | NIL | 12 | 24000   | NIL | 24000   | NIL  |
|       | KL 5 AC<br>9394 | 2000 | NIL. | NIL | 12 | 24000   | NIL | 24000   | NIL  |
| Tot   | al              |      |      |     |    | 1674000 | NIL | 1674000 | NIL  |



# Schedule -6

Details of Expenditure on Campaign workers/agents and on candidate's booths (kiosks) outside polling stations for distribution of voter's slips

| S.    | Date         | Expenses or   | Campaign wo |   | Total<br>amount.<br>Incurred/ | Sour                    | ces of Expendi       | ol Amt. By others  7 00 Nil 00 Nil 500000  Nil Nil Nil Nil |
|-------|--------------|---|-------------|---|-------------------------------|-------------------------|----------------------|--|
| No.   | and<br>Venue | Nature of Expenses  | Rate        | No. of<br>workers/agen<br>ts No. of<br>kiosks | auth. in Rs.                  | Amt. By candidate/agent | Amt. By Pol<br>Party |  |
| 1     | 2            | 3a  | 3b          | 3c  | 4                             | . 5                     | 6                    | 7  |
| 1     |              | Candiates booths<br>(kiosks) set up for<br>distribution of<br>voter's slips | 7750        | 120   | 930000                        | Nil                     | 930000               | Nil  |
|       |              | Candiates booths<br>(kiosks) set up for<br>distribution of<br>voter's slips | 5000        | 22  | 110000                        | Nil                     | 110000               | Nil  |
|       |              | Candiates booths<br>(kiosks) set up for<br>distribution of<br>voter's slips | 3403.9      | 1   | 3403.9                        | Nil                     | 3403.9               | Nil  |
|       |              | Accomodation for collecting agents  | 3500        | 110   | 385000                        |                         |                      |  |
| 2     |              | Refreshment Charge<br>for counting agents                                   | 150         | 137   | 20550                         | Nill                    |                      | 500000   |
|       |              | Travelling expense for counting agents                                      |             |   | 94450                         |                         |                      |  |
| 3     |              | Campaign workers<br>honorarium/salary<br>etc.                               | Nil         | Nil   | Nil                           | Nil                     | Nil                  | Nil  |
| 4     |              | Boarding  | Nil         | Nil   | Nil                           | Nil                     | Nil                  | Nil  |
| 5     |              | Lodging   | Nil         | Nil   | Nil                           | Nil                     | Nil                  | Nil  |
| 6     |              | Others  | Nil         | Nil   | Nil                           | Nil                     | Nil                  | Nil  |
| Total |              |   |             |   | 1543403.9                     | Nill                    | 1043403.9            | 500000   |

| Schedule 7   |            |       |  |                     |         |  |  |  |  |  |
|--|------------|-------|--|---------------------|---------|--|--|--|--|--|
| Details of amount of own fund used for the election campaign |            |       |  |                     |         |  |  |  |  |  |
| S.No.  | Date       | Cash  | DD/Cheque no. etc. with details of drawee bank | Total Amount in Rs. | Remarks |  |  |  |  |  |
| 1  | 2          | 3     | 4  | 5                   | 6       |  |  |  |  |  |
| 1  | 02-04-2024 | 25000 | Cash Deposit                                   | 25000               | NIL     |  |  |  |  |  |
| 2  | NIL        | NIL   | NIL  | NIL                 | NIL     |  |  |  |  |  |
| 3  | NIL        | NIL   | NIL  | NIL                 | NIL     |  |  |  |  |  |
| 4  | NIL        | NIL   | NIL  | NIL                 | NIL     |  |  |  |  |  |
|  | Total      | 25000 | NIL  | 25000               | NIL     |  |  |  |  |  |

| Sc   | я.  | - 3 | 1   | <br>Ω   |
|------|-----|-----|-----|---------|
| - C  | m   | മവ  | TRI | 30      |
| 1.7% | 881 |     |     | <br>5.7 |

Details of Lump sum amount received from the party (ies) in cash or cheque or DD or by Account Transfer

| S.<br>No. | Name of the Political<br>Party | Date       | Cash    | DD/Cheque no. etc. with details of drawee bank | Total Amount in Rs. | Remarks |
|-----------|--------------------------------|------------|---------|--|---------------------|---------|
| 1         | 2                              | 3          | 4       | 5  | 6                   | 7       |
| 1         | BDJS                           | 16-04-2024 | 2000000 | 731129   | 2000000             | NIL     |
| 2         | BDJS                           | 23-04-2024 | 3000000 |  | 3000000             | NIL     |
| 3         | NIL                            | NIL        | NIL     | NIL  | NIL                 | NIL     |
| 4         | NIL                            | NIL        | NIL     | NIL  | NIL                 | NIL     |
| Tota      | ıl                             |            | 5000000 | NIL  | 5000000             | NIL     |

| Sc       | hec  | dul      | e    | 9 |
|----------|------|----------|------|---|
| B. F. W. | 3404 | or was a | - ve | , |

Details of Lump sum amount received from any person/company/firm/associations/body of persons etc. as loan, gift or donation etc

| S.<br>No. | Name and address               | Date                 | Cash | DD/Cheque no etc.<br>with details of<br>drawee bank | Mention<br>whether loan,<br>gift or donation<br>etc. | Total Amount in Rs. | Remarks |
|-----------|--------------------------------|----------------------|------|---|--|---------------------|---------|
| 1         | 2                              | 3                    | 4    | 5   | 6  | 7                   | 8       |
| 1         | PARTY (Individue CONTRIBUTION) | werf<br>6003-06-2024 | NIL  | NIL   | DONATION   | 500000              | NIL ,   |
| 2         | NIL                            | NIL                  | NIL  | NIL   | NIL  | NIL                 | NIL     |
| 3         | NIL                            | NIL                  | NIL  | NIL   | NIL  | NIL                 | NIL     |
| 4         | NIL                            | NIL                  | NIL  | NIL   | NIL  | NIL                 | NIL     |
|           | Total                          | NIL                  | NIL  | NIL   | NIL  | 500000              | NIL     |



# Schedule 10

Details of expenditure incurred on publishing criminal antecedents, if any in newspaper and TV channel

| S.<br>No | N                    |  | Television   | Mode of payment (electronic/cheque/ |  |  |                        |  |
|----------|----------------------|--|--|-------------------------------------|--|--|------------------------|--|
|          | Name of<br>Newspaper | Date of publishing                       | Expenses that<br>may have<br>been incurred<br>(in Rs.) | Name of                             | Date & Time<br>of insertion/<br>telecast | Expenses that<br>may have<br>been incurred<br>(in Rs.) | DD/cash) (Pl. specify) |  |
| 1        | 2                    | 3  | 4  | 5                                   | 6  | 7  | 8                      |  |
| 1        | Metro                | 23-04-2024,<br>18-04-2024,<br>12-04-2024 | 30,000.00  | Kerala<br>vision                    |  | 5,900.00   | BANK                   |  |
| 2        | Mangalam             | 18-04-2024                               | 59,623.00  | NIL                                 | NIL                                      | NIL  | BANK                   |  |
| 3        | NIL                  | NIL                                      | NIL  | NIL                                 | NIL                                      | NIL  | NIL                    |  |
| 4        | NIL                  | NIL                                      | NIL  | NIL                                 | NIL                                      | NIL  | NIL                    |  |
|          | Total                | NIL                                      | 89,623.00  | NIL                                 | NIL                                      | 5,900.00   | NIL                    |  |

|           | Schedule 11  |   |                |                     |                            |                           |                  |  |  |  |  |
|-----------|--|---|----------------|---------------------|----------------------------|---------------------------|------------------|--|--|--|--|
| ·         | Details of election expenses incurred on Virtual Campaign            |   |                |                     |                            |                           |                  |  |  |  |  |
|           | Nature of Virtual  | Sou   | rces of Expend | iture               |                            |                           |                  |  |  |  |  |
| S.<br>No. | Campaign (Indicate<br>Social Media<br>Platforms/Apps/Other<br>means) | Name of Content creator  Name of media to disseminate message |                | Total amount in Rs. | Amount by candidate/age nt | Amount by political party | Amount by others |  |  |  |  |
| 1         | 2  | 3   | - 4            | 5                   | 6                          | 7                         | 8                |  |  |  |  |
| NIL       | NIL  | NIL   | NIL            | NIL                 | NIL                        | NIL                       | NIL              |  |  |  |  |



Note:

- In Schedule 5:-
- (a) copy of the order containing list of all vehicles for which permit issued by the Returning Officer to be enclosed.
- If the vehicle is owned by the candidate/his relative/agent are used for election purpose, notional cost of (b) hire of all such vehicles, except one vehicle if owned and used by the candidate, notional cost of fuel and drivers salary for such vehicle, shall be included in total amount of expenditure in the above table.
- In all schedules if any expenditure on goods and services, provided by the Political Party; or provided by any person/company/firm/associations/body of persons etc. on behalf of the candidate, then the notional market value of such goods or services are to be indicated, in respective columns.
- In Part -III, the Lump-sum amount of fund received from the political party or others or the candidate's own funds, should be mentioned date wise. In all such cases such amounts are required to be first deposited in the bank account of the candidate, opened for election expenses.
- Each page of the Abstract Statement should be signed by the candidate.

  (Revised by the Commission vide its letter no. 76/Virtual Campaign/EEPS/2022, dated 15th January, 2022, placed at Annexure-F8)